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SA: 23t0s
Mo LS5 A HY L IUMD(SSHL2R/250012)
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- _ _ HEE
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250 =t 49,445,312 39,047,689 10,397,623
2 8,797, 141
2 15,400,000
| 705,000
& 1,890,500
=3 22,652,671
225 A Y L OHUMD(2L /25 0S) 1,204,748 3,217,817 ~2,013,069
2 8.000
=3 1,196,748
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202 04l 3,000 3,000 0
01 2O 3,000 3,000 0
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OWSH HEIZ3 90,000
308 XiXIEHHI SOl & 190,000 175,000 15,000
01 MXSHBLLES 190,000 175,000 15,000
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M Z3t0=n
B AALO B YB(SHLTB/23H012)
el 23DEAIAL NSEE (ool 72
_ HE T
SN EB -GS - MBAY - BES 0 &4 o il ot o HZ2
202 O 6,000 6,000 0
01 =AY 6,000 6,000 0
OI3stJlet A28 S8XEZ 6,000
401 Al&HI LR OHYI 200,000 0 200,000
01 Al&HI 200,000 0 200,000
O=23t2d I - &M EAel22E 200,000
403 AXIHHSA=201H 800,000 200,000 600,000
01 MXEMA=2EER 800,000 200,000 600,000
O MEYES S5 500,000
ORISHZIE 2tz Hg 300,000
SYEE2 HE(=1) 3,900,000 2,250,000 1,650,000
= 3,000,000
& 900,000
403 XX HSA=01H 3,900,000 2,250,000 1,650,000
& 3,000,000
& 900,000
01 MHXIEMA=ZE = 3,900,000 2,250,000 1,650,000
OLNMINKHAIEIS 2 HE 1,300,000
= 1,000,000
= 300,000
OsdYsa HE 650,000
= 500,000
= 150,000
Ogt=AEE =2 AE 1,950,000
& 1,500,000
= 450,000
Zos2Hg(=1) 11,650,000 2,050,000 9,600,000
= 6,000,000
< 5,650,000
403 XXM SK=01H 11,650,000 2,050,000 9,600,000
= 6,000,000
= 5,650,000
01 AXESMIA2E = 650,000 2,050,000 21,400,000
OZFHOI2IE HAZSHEH AE 650,000
& 500,000
= 150,000
02 BII2SHHSCHA AL I 11,000,000 0 11,000,000
olzd SH N3 =4 11,000,000
= 5,500,000
< 5,500,000
Zstol=dIgAd =4 (=) 1,430,000 1,950,000 520,000
& 1,100,000
= 330,000
403 A XISHHSK=201H 1,430,000 1,950,000 A520,000
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CHel: 23PDIRAlE Sl XIsaE crel ®d
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& 1,100,000
= 330,000
01 TUXIEHMAZE = 1,430,000 1,950,000 520,000
OW=JIga AE 1,430,000
& 1,100,000
= 330,000
oM A2E(21) 2,570,000 800,000 1,770,000
& 2,150,000
= 420,000
403 XX HSA=01d 2,570,000 800,000 1,770,000
= 2,150,000
= 420,000
01 MUXIEHMAZE = 2,570,000 800,000 1,770,000
OEZZANEEMZ AE 520,000
& 400,000
= 120,000
OLlMIIg =2 A 750,000
= 750,000
o8d=AMa A 1,300,000
= 1,000,000
S 300,000
il JEMH 2= 4,364,300 4,758,300 A 394,000
= 500,000
Il 420,000
= 150,000
= 3,294,300
E}WNRRSSE & 73,500 98,500 A 25,000
202 O 3,500 3,500 0
01 =W 3,500 3,500 0
O2}uUFE 35 3,500
307 GI12told 70,000 95,000 A 25,000
04 QIZtHAIE X 70,000 95,000 A 25,000
OYAC~z2E8d E3uF 15,000
O2RJE~0H2H 25t F 10,000
Ogt - = stHd IR M 15,000
OHM128 S=0t NYER 15,000
OZRE-ZECIE IMN=Z 15,000
Estilzs #x2s NI 912,000 1,107,000 A 195,000
= 150,000
< 762,000
202 Oddl 7,000 7,000 0
01 WY 7,000 7,000 0
O=sztll=s B 4 7,000
307 21z2tol A 540,000 680,000 A 140,000
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SA: 2502
Ha: UAS59 B Y (SAYB/25H02)
ool 230z MEHH P (B9 &2
_ _ _ Muo
A -3 -H2A(SH) - HEAMY - BES (il & OH Ofl At ot Hlws2
Ng2st2l ALK (22D) 500,000 400,000 100,000
= 500,000
403 RXISHSXHZO0IH 500,000 400,000 100,000
3 500,000
01 MXSHI=EE 500,000 400,000 100,000
oME2sY AY 500,000
3 500,000
Sstole XS N (2D) 770,000 64,000 706,000
| 420,000
= 350,000
307 212+0| 770,000 0 770,000
I 420,000
= 350,000
02 QIAAMBE 770,000 0 770,000
OHNEA T2 200,000
I 100,000
= 100,000
OBAMETHA HESH 170,000
p 120,000
= 50,000
OBUE MECH S4 400,000
| 200,000
= 200,000
HOIME RS BHE 3,842,270 3,367,018 475,252
= 1,017,950
y] 35,000
= 2,789,320
cNE 29 248 1,932,470 2,050,658 A118,188
101 o121l 3,000 3,000 0
04 JIZH2RNSES 3,000 3,000 0
OZNEH BABEH 3,000
201 Y2 ay] 219,000 280,000 ~61,000
01 ALR2relHl 150,000 206,000 56,000
OFHEH LsSHY| 150,000
02 2Z2YHl 24,000 24,000 0
G TR 24,000
03 A2 HI 45,000 50,000 A5,000
Cl==I Py 45,000
202 01| 8,687 8,687 0
01 2Uj0dHl 8,687 8,687 0
oMz 29 2UH0iH| 8,687
301 YA 1,681,783 1,733,971 ~52,188
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04 0¥ {0
2 ko
0z Ml =

A

=1t

Sto] B USH2L /250 =)
223 243

SN S(B) - NRAY - B2 Aro e =2
QIRtF A8 X 15,000 20,000 25,000
Oz Y& LAy XA 15,000
MEEZY 29 40,000 50,000 210,000
gIztold 40,000 50,000 210,000
QItF A E X 40,000 50,000 A 10,000
O B2 SelItSAE 22H 10,000
OZJEZH 21C HIMAIY 15,000
OLASHA U BAUSHY 2Y 15,000

ST A2 AZXA (=) 159,100 107,460 51,640

= 159,100
308 MHXIHHMSOIA 159,100 107,460 51,640
= 159,100
01 AXNHMBLEEXS 159,100 107,460 51,640
O3 A& H&A2 HE2Y 159,100
= 159,100
ANHE SSUSRSAIE (=) 181,000 64,000 117,000
= 131,000
= 50,000
308 AXEHHSOIH 181,000 64,000 117,000
= 131,000
L= 50,000
AXNSHEBAEES 181,000 64,000 117,000
OAHANE 230z WS 181,000
= 131,000
& 50,000
Fstl=ns g43H(=21) 915,700 643,500 272,200
= 457,850
= 457,850
gI2tol 915,700 643,500 272,200
= 457,850
< 457,850
DItANE X 915,700 643,500 272,200
O=24=20F =2 A XA 915,700
= 457,850
& 457,850
SAFEAIUS AFZEIZIXIZAISE (2 2) 70,000 48,000 22,000
Il 35,000
= 35,000
gIztol A 70,000 48,000 22,000
J| 35,000
= 35,000
DItANE X 70,000 48,000 22,000
OAMZEIZ XI& A 70,000
| 35,000




SH: 230z
HE: AAD50| YW AHSHUBY/25012)
Sl BOMBRS 2o (9l &2
_ _ _ Muo
A B3 C9(30) - MRAY - B2 Ao il b o B2
< 35,000
Sz a3 NR(22) 444,000 0 444,000
= 270,000
= 174,000
307 Q1201 300,000 0 300,000
= 150,000
= 150,000
R EES 300,000 0 300,000
0ZASHNZDSE NAME 2 300,000
= 150,000
= 150,000
308 KHXIEHHI SO & 144,000 0 144,000
= 120,000
= 24,000
01 RXSHBASES 144,000 0 144,000
ONASSNZDE NYME 2 144,000
= 120,000
= 24,000
28 2HYE 54 1,557,000 2,207,000 A650,000
223 YBY2 L =Ucs 1,557,000 1,907,000 A350,000
201 LByl 10,000 0 10,000
01 Attt 10,000 0 10,000
oLALs YESY X7 10,000
202 01t 7,000 7,000 0
01 =2Uioibl 7,000 7,000 0
0SS YESY YL 7,000
307 QI2H0I 1,400,000 1,700,000 A300,000
04 DIASAIS 1,400,000 1,700,000 300,000
ORI5S ZHCHSA 32 stH 200,000
OM73 L2E 2R S2AH 1,200,000
308 XHXICHHI SO & 140,000 200,000 60,000
01 RXSHBABES 140,000 200,000 60,000
OSE2E T 70,000
OSY FHATH 70,000
cesiie sS4 2,950,000 3,380,000 430,000
3 2,650,000
| 250,000
= 50,000
AR Ssiatel £ 50,000 130,000 80,000
308 KHXIEHHI SO & 50,000 130,000 80,000
01 RXSHBASES 50,000 130,000 80,000
0L ZUSSHAT HL X 50,000




2A: S30l=1
HH: S50 FW YsH(2UD
ool HOesidY sA (et & 2
Ao BB S (3IH) - MEAY - Ao gggf; HRS2
BI25 A DBtE A (=21) 2,650,000 2,350,000 300,000
= 2,650,000
403 XX SHHSK=201H 2,650,000 2,350,000 300,000
& 2,650,000
01 MXISHX2EX 2,650,000 2,350,000 300,000
OFd HHIFAMHESHA = 2,650,000
2 2,650,000
AEsusgHE (=2 250,000 0 250,000
J| 250,000
403 XXX S K201 A 250,000 0 250,000
J| 250,000
01 XXISHMA2E X 250,000 0 250,000
oY oy HE 250,000
J| 250,000
SRS HAHE B= - M5 (2322 14,935,859 14,826,419 109,440
= 7,771,191
= 1,740,500
= 5,424,168
SR K|SED|BL BEE - 2= 2,416,963 1,594,021 822,942
= 1,684,551
= 40,500
& 691,912
A2 23N ASIAL 100,000 200,000 100,000
207 A FIoHE| 100,000 200,000 100,000
01 A2ESH| 100,000 200,000 100,000
OHEZE 23 A=A 100,000
23N B - |4 335,900 360,400 N 24,500
= 40,500
== 295,400
202 044l 3,000 3,000 0
01 2 ob] 3,000 3,000 0
ORYFIIM B - 24 g2 =& 3,000
308 XMXSHHSOIN 332,900 357,400 A 24,500
= 40,500
= 292,400
01 MXSHAHBNEZS 332,900 357,400 A24,500
OREESM 8&2X& 272,400
OLEHLLH 2B=3 K& 20,000
O FEHI2SM ZHH A 40,500
= 40,500
dHAIIEE(sSE2)ES 15,000 20,000 A5,000
206 M= H| 5,000 10,000 25,000




SA: 2502
Hu: 25249 HHN BE - HS(2JALDR/25HT)
el 23RM0 I BE - 1S (B9 &2
_ _ _ Muo
A -3 -H2A(SH) - HEAMY - BES (il & OH Ofl At ot Hlws2
01 M=l 5,000 10,000 A5,000
oFeIlEE &5 5,000
307 212+0| 10,000 10,000 0
02 PABAEE 10,000 10,000 0
o#OIIGE BS 10,000
SsIRs 29 39,693 36,693 3,000
201 Y2 Y| 33,000 30,000 3,000
01 AFR 22/t 33,000 30,000 3,000
02N 2 20,000
OB ABIY 51SIIE(0H0H AoV 29 13,000
202 01| 6,693 6,693 0
01 =Ujotbl 6,693 6,693 0
OS5t Bl U JBTE ALET 6,693
SoN 22BN 22 10,000 10,000 0
201 Y2 Ay| 10,000 10,000 0
01 AL 22/t 10,000 10,000 0
OS2 +22DA 22t 10,000
SH2 N ALXA(2D) 480,000 450,000 30,000
=2 400,000
= 80,000
403 RXISHS K20 H 480,000 450,000 30,000
= 400,000
= 80,000
01 XIXICHH e S 480,000 450,000 30,000
OSHESS M4 A 360,000
= 300,000
= 60,000
OS2I WHITHK X4 120,000
= 100,000
= 20,000
e 2EBR(2D) 80,000 80,000 0
= 80,000
308 X XIS+ S0l 80,000 80,000 0
= 80,000
01 HASHMALSEZ 80,000 80,000 0
O=R28 M Warze 80,000
= 80,000
ZQ XS LA 2E(2D) 174,000 126,000 48,000
=2 145,000
= 29,000
308 XHXIEHHI SO 174,000 126,000 48,000
= 145,000




SA: 23
L 2HRMY HAN 2E - &
ool 238 =

X ZH
o=

ool AEo|er

SN (B) - MBEAY - B2 0l aF ol Soe HRZ2
= 29,000
01 IXSHHEAMNBEEZ 174,000 126,000 48,000
OZRSAEESIM ZAl0E HiX 174,000
= 145,000
== 29,000
S sg2e(=21) 200,370 179,928 20,442
= 184,551
== 15,819
308 XMXIEHHSOIH 200,370 179,928 20,442
== 184,551
= 15,819
01 AXEMIMNEEZ 200,370 179,928 20,442
O23tM s€22/dl X3 200,370
= 184,551
= 15,819
S2X23HH UIHAIAE R=(=21D) 950,000 0 950,000
= 875,000
= 75,000
403 XX SHHSKA=201H 950,000 0 950,000
= 875,000
= 75,000
01 AXIESHMAZ2EE 950,000 0 950,000
O=IXNE23 M LHAIAE 2= 950,000
= 875,000
= 75,000
23 OHlses =X 32,000 20,000 12,000
201 B3| 22,000 5,000 17,000
01 At22teldl 4,000 5,000 A 1,000
O1AHEsM X2doles =X 4,000
03 SHAIEHHI 18,000 0 18,000
ON33 L2372l & AN A 18,000
308 NAXHMSOIH 10,000 15,000 A5,000
01 AXEMINMNEEZ 10,000 15,000 A5,000
O1AHE2stM X2oles =& 10,000
SMES & SHEFHI 12,518,896 13,232,398 AT13,502
= 6,086,640
= 1,700,000
= 4,732,256
23 E4=3H| 5,015,000 3,095,683 1,919,317
= 1,700,000
= 3,315,000
202 (4l 15,000 15,000 0
01 2oy 15,000 15,000 0




SN 202D
HH: 2R HAHE BZE - HS(SHLBB/2HT)
ool RS U SEFY) (el &2
_ _ _ Muo
SH-EH . C(BH) - NRAY - BES Off &k il b o bRz
PEENIEES TS 15,000
403 KX SIS KH2 0l ® 5,000,000 3,080,683 1,919,317
= 1,700,000
= 3,300,000
01 KXISHA X=X 5,000,000 3,080,683 1,919,317
OSXNBRIN 24 3,300,000
OSNIH2ET 24Tl 1,700,000
= 1,700,000
HEANE PENA(2D) 1,001,000 1,260,000 259,000
2 770,000
= 231,000
403 XX EHHIS XH2 0l ® 1,001,000 1,260,000 259,000
2 770,000
= 231,000
01 XXISHA A2 E 1,001,000 1,260,000 259,000
ORSAZ BEFY| 1,001,000
2 770,000
= 231,000
RIS 24FH(22) 6,502,896 8,876,715 ~2,373,819
2 5,316,640
= 1,186,256
403 KX EHHIS XH2 0l 6,502,896 8,876,715 ~2,373,819
2 5,316,640
= 1,186,256
01 KXISHA =R X 6,502,896 8,876,715 A2,373,819
OV S S+Fb| 6,441,184
2 5,259,800
= 1,181,384
CELIESIERCD] 16,112
2 14,840
= 1,272
oHEIIES(ME) NBES 45,600
2 42,000
= 3,600
S 2H AU (20123 (JIEHIIEH 3,135 35,135 0
Jl= 2| 35,135 35,135 0
VP 35,135 3,135 0
201 2er2 | 26,015 26,015 0
01 AR 2IYl 26,015 26,015 0
© 2N2Y ARB2IY| 26,015
202 01t 9,120 9,120 0
01 2Uhoit] 9,120 9,120 0
0 2N2Y ZUH0iH) 9,120




